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Mathematics P1/Wiskunde V1 2

NOTE:

NSC/NSS — Marking Guidelines/Nasienriglyne

DBE/November 2024

o If a candidate answers a question TWICE, only mark the FIRST attempt.

o  Consistent Accuracy applies in all aspects of the marking guidelines.

LET WEL:
e Indien ’n kandidaat 'n vraag TWEE keer beantwoord, sien slegs die EERSTE poging na.
e Volgehoue akkuraatheid is DEURGAANS op ALLE aspekte van die nasienriglyne van

toepassing.
QUESTION 1/VRAAG 1
1.1.1 x(x—3)=0 v x=0
x=0 or x= v x=3 (2)

3
V' ae

1.1.2 2x* —4x+1=0 7 v’ standard form /1 ] e
1 a b, i3 2 incorrest £ (4 JSH & 1 ;
K g .).?')‘ \ x= —(E (_4) ~ 420 v’ correct substitution fo § i
MO (B 22) in correct formula 78
e A ﬁ"'f x=171 or x=0,29 v’ answer Egg c‘% |
NG NG par v’ V' inCor owmding /| ¥ answer (4) ‘1.2.'2‘ R
2 1.1.3 ¥ —2x—-3>0 - N e = Sign (B9 =
_‘_‘r (x_3)(x+1)>0 l/\ﬁ'(/"c’- \/ v factors Biq—% é&;% o~ i
CV:x=3 orx=-1v" v critical values - ?“i %‘J ‘_ :
Using cunsl ot £ :
\ } AQSWVS rpao IF Cvrrr_ut _j\ i
e G5l
ﬂ J No sepw &‘ib"
x< -] or x>3 OR/OF xe(—0;-1)U@3;®) |vv answer (4)
1.14 2% %2 _35 - N = ﬁ“‘f\/tdmd
Nokb Showivg | 2 —2227 ~32=0 e ‘BP\i b exp juse of exponential lav://}:?- - 1_‘_,9_"‘,&
P lg @@ =0 B | factors el - -0
' I 27 =8 or 2724 T "Answer only! j 2x -° Vit ""‘)UL”%) -
51) 2% =23 no solution _,_ y 2= Y :h""-(— e k=%
S Am-nEH 2 = G @ x= 1‘/
LLS J-2x+4-x=2 b Covrest SY \ =3
V=2x+4=2+x \/ fov o re) I v isolating the root
=20 =X J2514)=(2+x)*
. +~7C- ¢ ( o ) (24" 7 e v squaring both sides
'- b‘d —2x+4=4+4x+x"

x?+6x=0 1"
x(x+6)=0 Igcrr'h

x=0 or x#-6 |

v standard form

v’ answers with selection

“4)
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1.2 y=3-2x V e (D) veql
y+xy=2 .. (2)
i : A
Subs (l)zmto 2): / CNJA v substitution
__ B-2x)"+(3-2x)x=2
*‘& e 4x* —12x+9-2x>+3x-2=0
_%‘5[” ook 267 =9x+7=0 |~ ot fuv wh v standard form
(usyeel Qx—T)x-1)=0 |
L (pztn v both x-values
3 xmﬁ" x _7 or x=1 \/
ot tf oy 2 byt
Gor o salin | ¥=~4  7=1 |y Bt 6
f 4 fenob | OR/OF e
3-y B-velE ndaperdond - L
—2_7 1
x 5T o (D | eq
y:+xy=2 . (2) i |
Subs (1) into (2): A \Z/ |
) [ 3 y) ) N W"A i v’ substitution
+| —= =
4 2 4 5\)—¢Q
2yt +3y—y*—4=0
¥ +3y-4=0 7 v’ standard form
G+HE-D=0 [
| y=—4 or y=1 .~ b v both y-values
: ; .
l X = ) or x=1 \/ ‘9@‘]'1-‘ > ¥ both x-values 5)
4
1.3 Product=§x£x§x...x n xn+1=n+1 / \/éxﬁxix. i
2 3 4 n-1 n 2 2 3 4 n
no \Z'r: M\k“j Pradich
The product will be an integer value when n + 1 is n+1
) 'S v —
f'y h'“-t divisible by 2 i.e. n€{3;5;7;...} statement( 2 )
i g A s ~
N> "y Therefore, #» must be an odd number, greater than 2. | v nisoddforn>2  (3)
1§ /i) nok [ORIOF OR/OF
= =
Vi V6% Forn=2 the product is 3 -
Seen| (= ‘ 2 v" generation of the four
3/ 3\( 4 \ products
Forn=3 the product is (—)(—) =2 /
2ZN3 .
Forn=4 the product is (%J(g)(;) = —;—
3\(4 - v' identifying the pattern
Forn=>5 the product is (—] (—) (-5—)(-@-) =3 when 7 is odd
2A3NANS Vnisoddforn>2  (3)
ne{3;5,7;..}
Therefore, n must be an odd number, greater than 2.
127]
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QUESTION/VRAAG 2

2.1.1

—[2a +(n-1d]

uvbm, o
[2(7) +(20-1)(5)] / v substitution
Sao —1090 \/ v’ answer (2) ,
U
2.1.2 T =7+(n-15) 7S ;\/ :
n a - l -
T,=5n+2 / v general term %Ei&iﬂé B
575—320=14400—1090—13310/ _ v S =Sy NLe s
Z(5n+2) Z(5n+2) 13310 " m"w
n=1 75
v v =13
53 (5n+2)=13310 \// Q:V’” gy 2, 310 —
a=21 -
@ . &
2 Iz
OR/OF / OR/OF g o
L,+T,+0,+..+T,, =14 400—-1090 Y 8, =Sy ;Zﬁbég %
107 +112+117+....=13 310 =%l
— —_ - U._ﬁ © G"!_"'
o T, =102+5 " "= Sntiox v general term éég T
; 55 <
| I7: Z(5n+122) 13310\/6'3\/“‘9&*0 < vy v=13310 wolE T
2..(1 )& — ootl prart ! 2
():\{1)’}' 2@“"’3 4 t: @| I
2.2.1 T Zon-1 ' ® 2 Py
o[22l T =2 T O 27 (G
Sucdpping - 98" first difference =2(98) -1 | S | . a=| 1 2 feay +
202 | o ol S5 1 =quat /A jupe . L
y Aoy "t "_ b-—n-—l_ _C—':: N
ot 2 ) Quadratic: T, =9632-195" 20‘”“?""‘3 h; v'method \\"\'V\: = Lh:(C } =
" =90437 f o0 (G | Yanswer \ G|
22.2 28 ; 29 ; 32 -?Flh GSe. 2.2
1 3 5 T R
\/\/\//Q/
2 2 2 v second difference
3a+b=1 9a+3b+c=32§/ va=1
2a=2 , 3U)+b=1 T, =1(3)* —2(3) +¢=32) | Y b=-2
a=1 h=—2 ¢ =29V/| ¥ method to calculate ¢
OR/OF
1-2 +¢=28
o=29 ve=29 (5)
T, =n"—=2n+29
[14]
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QUESTION/VRAAG 3
31 27 circle: S 3cm
2
. 3
3% circle: 5 =15cm M ace v'v radius 3% circle  (2)
OR/OF OR/OF
2
39 circle = 6(%) =15 v'v radius 3" circle
v
o 3'2CA 367 ;97 9 fQ%P:aV\;L SLCD \/ l;S: <= WO
Ol | % Ferms ~
1/ \/ ( \ -
.\ a=36n " 1§ use 5o ot
tv} r= ‘2_‘*’ =113,\0 L%—\' 'AWM&\/ 9 \d o
et \_ ay,s / | 5&) o G\
- 367:[(1) —1] /% 5= s (€ S 1)
4 “ - )‘Q O)l 4
S0 = 1 \5: W "Cld” v substitution o338\ =
1 e R :
4 r 3 - ‘50 &o % <
: S, =150,80 \/ é@b A v’ answer _______._ ?’ézé ~
W3 V0. 2,0y 7007, s ot pe.n.;mi o (4)][69¢ |
3.3 6.3.3 o g 28a
355 zalx v
| / =S
< o =
uA \g radius =— (128) YT = O3 o) = ‘/_3___ i g |
) 3 Ly 256 o l
| C)V R o il QQ\P{\D;‘Q’
| = 1 256 ( zj ‘/ v’ equating to radius
\ 1 e general term
— N ) v'simplification
= be |52 (2) o PO TP
9 n-1
[l) =(l) \/or/of n~1=log,, ( ! )
2 2 (3)\512
R WY L
n-1=9 sn—1=9
=10 VvV~  a=10 v answer )
‘ am:>\ Sey wmimil.
N Cannet b (EVENENE :-;‘:,'PLI.. K

v’
A
Use clhamgey ﬂ% e
condd radius dnsw 7 ¢

« . N=10
< ; \ @

A:0 L i -
Copyright reserved/)'i'opzeret7 voorbehou MWL Please turn over/Blaai om asseblief é(%
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NSC/NSS Marking Guidelines/Nasienriglyne w’ ’
| ORIOF 13 ) E '2; 2 222 ororF’ 3 ¢
l G, 8) H'J 3’)--. J 6‘{—3 -\Zé '
12 ; 6 ; 3 : ) — :
p n = \O

. 3
diameter = —
128
3 ol
128 2
(Y
512 \ 2

e

Y

xx"‘"
1“\_/

n-1
v 12@
2
v equating general term of

) 3
diameter to ——

Copyright reserved/Kopiereg voorbehou

9 n—-1
(l) = (lj \/Orlof n— 1 1og ( 1 ] ‘/Simpliﬁcation
2 2 (3\512

DI N

S.n—1=9 S.n—1=9

Son=10 n=10
\/ : v’ answer €))

10
[ DEPARTMENT OF BASIC
EDUCATION

PRIVATE BAG X895, PRETORIA 00

12 -11- 202
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QUESTION/VRAAG 4
41 | fx)=a" -1
A 1w 2] <
5 QCL&P =% =
—§=a2—l / ra=t 3 v substitution
) = £ ¢
a4 5 oa= % s
9 (i Shenty weed
2 S N wdh b et
a=2 / ang M adh | v answer )
4.2 y>-1 \/ = e 1% e 2 v’ answer
e ven iy a= =3 &
OR/OF v
yel-1;) answer ‘
(1)
43 @xw e
v %WWL’K 4
o dsgmprel  phoust | be
\SJ-)})A Araoan LW\}
J‘“’ v(0;0)
v’ asymptote
v'decreasing shape
(3)
0 / 3 r
B Wit adct
\ “M;
-1 /
4.4 x CAND W\
19 (2
_:(_J -1 \/ it v substitution
Qo | B3 — DEPARTIEN OF BASIC
(X N * i EQUCATIOR o
\ Q“Pw _212(.2_) " PRIVATE TG X895, PRETORIAD \
AN 8 \3
% ] \ o o12-m- 2
V)N [3 3 3\* ¢
| == INE
2) [2) | \pPROVED MARKING GUIDELTEE
v oY G EXAMINATION
X =— \/ v’ answer
.'.C[~3;E)
8
anSw-
C’[E;—B»] \/ NS v’ answer 3)
9]

| S Y
N caovdndode e choses d= "%

Copyright reserved/Kopiereg voorbehou
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QUESTION/VRAAG S
5.1 v p=-1 ) Sabo
52 T =| -3 In
v substitution “‘ﬂ_{
ho Yol
e & v’ answer @)
5.3 -
N LA v substitute (0 ; 1)
L pia N ‘g v
wr'\
\ a N
& a3 VOB L\ Z | v answer )
5.4 3 v >landy -1 ¢ sE |
70 g WZmEl@Nne T Ly /F
-1 - TErED (3 -
—3=2x-2 e e (- - ﬂ" ~1 (5
2x=— " e 3~ 2 < e 3
1. = 0 i ¥ x-intercept T
L. =—5 | )L& (' J ’3!:] ﬁi‘ P
= Vi , <€ (15-5) 1=
xe|l-—;1] OROF -—-<x<l wel-% ) AV answer 3)
2 - 2 P )] _?;p
5.5 £ is reflected in the y-axis, then translated 2 units to | v reflection in y-axis
the right v translation 2 units right
N @) |
OR/OF OR/OF
[ is reflected in the x-axis, then translated 4 units v reflection in x-axis
down v’ translation 4 units down
— e @
OR/OF ‘/ OR/OF
f is reflected about the linex =1 v'v reflection about line
\.‘-\? — 2
x=1 2)
OR/OF OR/OF
f is reflected about the line y =—2 v'v reflection about line
4 y=-2 @)
— S Ve [10]
o \ _ -\
40 cund c]asic cdr ())
=
O
2 h° Cleckune

!
|
|

‘i APPROVE

F pUBLIC EXAMINATION

Copyright reserved/Kopiereg voorbehou
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C/NSS — Marking Guidelines/Nasienriglyne
QUESTION/ 6 A
. _ \\v I
T -2\/ ORIOF f'(x) 2x+4_cm o od for x
x=2 v v value of x
=—(2)* +4(2) +5 Oy
*9 o ) %ﬁ\k\@ v value for y
- p&“”\ A %
~B(2;9) e (AN O\ 2 3)
6.2 | x*-4x-5=0 l& ™M Q> y\a_gjn\fr\;
(x=-5)(x+1)=0 -
x=5 or x=-1 LO-—OV“—\«S:,.— .’\VQ’ P\ J :
-1: 'a » i v A(-1;0
) YD G WDy [V ¥
Equation of AC: \_._H,_;?"" — W (%ss) )
i“—?:y“? OR/OF m=§—_—(12=2 ) V’meglodfor H Cl,tr)“/
+ + + i ient
X \/9,\)0 W gradien EUL)"&)E » ‘-2%)“}3
_,l}.hg'n Bx+8=4y y=0=2x+1) ¥ substitute point . © \'/I m__.;
2x+2=y y=2x+2 or Cinto equatiEH = U
ot CVK Ve, of a straight lin &=H = L} v’
Sihve e ” 2NNy
6- EH = -x? +4x+5—(2x+2) VvV WO show tvig v dlfferencu; < &
4 C‘ EH=-x’+2x+3 / =ha o VEH=-x+2x+3 | | |8
q - ,‘;' \ 4 CA— ‘ Q ‘49 (R Q,'-,I,“h .i b 2N~ 75) %
=1 | Max EH at: —~eda w,&Lcm v —obld) B8 =
Tl pome T —nthaara=o O gl o
& o | —2x+2=0 ORWOF x="2-2CD —Yovd 2 ||( pot used =N
) ZZe
wEEH O \ 2a  2(-D g -f-mi(\ugmd?*- gég a
' b = = Y "}-4 vive =he
not Mw’@f/ ! / = A N Ew=-0 'g?g =
<
Max length of EH = ~(1)? + 2(1) + 3 "
=4 v’ v’ length (4) v
6,4 = : Y —
e () corvwobic 3 2
H__,..-’i-\} =—x"-2mx—m"+4x+4m+5
P
K (x)=-2x-2m+4 v ¥ (%)
k' (x)=2 v k' (x)=2
~2x-2m+4=2 el v
~2x=2m-2 W
x=1-m |~ v x=1-m
Mb in (1)
k(l1-m)=g(l—m) / I
=(l-m)’ =2m(l—m)—m* +4(1—m)+4m+5=2(1~m)+2 | v substitution
“142m—m’ =2m+2m* —m* +4—Adm+dm+5=2~2m+2 |
-2m—-4=0
=2 \/ v answer
(5)

Copyright reserved/Kopiereg voorbehou
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NSC/NSS — Marking Guidelines/Nasienriglyne

! OR/OF OR/OF
T | #0)= 165+ m)= g0 _
—x? —2mx—m® +4x+4m+5=2x+2 jemwm% _
0=x*+(2m—-2)x+m?* —4m-3 simplification
A=(2m=2)* — 4()(m?* - 4m —3) | v substitution into A
A=4m* —8m+4-4m® +16m+12 oa
A=8m+16=0 A=0
m=-0 v’ answer
V7 ()
OR/OF OR/OF
R f(x)=—x*+4x+5
/() =
Nl =2x+4=2 vx)=2
2x=-2
x=1 v’ x-value
SO =—1) +4D)+5
y=38 v y-value
. translate 2 units to the right v 2 units to the right
| Lom==2 v’ answer
&)
N _ [15]

{,_r;,-x—-\ 2
.:'\u-'l

DEPARTMENT OF BASIC
EDUCATION
PRIVATE BAG X895, PRETORIA 0001

12 -11- 2024

APPROVED MARKING GUIDELINE
PUBLIC EXAMINATION
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‘\Mﬂr'

QUESTION/VRAAG 7
o
7.1 A=PQ1+i)" L,n Vo N=6%
6,8 " L= 0,085
A=5000(1+;J l/swo _ vin
400 - v’ substitution into
=R 14 706,56 e correct formula
s Cli s
V7 ¥ answer
(3)
7.2 A=P(1-in) ) nNe naeg
1 v M b <, | ¥'substitution into
—P=P(1-4i) :
2 ( ) . W correct formula
l—-(1—4:‘) s Pw
o1
1= g
P =125% v answez
| @)
OR/OF OR/OF
- 50% / v method
4
r=12,5% V/
: v’ answer
@ 2)
7.3.1 Already paid:
2300,98x 60 =R138 058,80 v’ amount already paid
Interest: .
138 058,80 — 100 000 =R 38 058,80 \/ v interest
3 i ~ (2)
Uslng Py cn €3 owbimt|
o TR

Copyright reserved/Kopiereg voorbehou

EDUCATION

N
RIVATE BAG X895, PRETORIA 0001
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v'n=136

vi

v’ substitution into
correct formula

Mathematics P1/Wiskunde V1 12
NSC/NSS — Marking Guidelines/Nasienriglyne
7.3.2 Balance after 2 years:
P x|1—(1+i)”” |
i
-36
230098 1-11+ 13,5
» 1200
a 13,5
1200
=R 67 804,94

R 67 804,94 — R20 000 = 5{7 8(_)4,94
o =)
i

2 300,98 1—(1 + 13,5 )
1200

47 804,94 = a3 e

1200

0,766 =(1,01125)"
log, 4125 0,766 = —n

n=23,83
.. 12 months earlier \/

v answer

v answer

v substitution into
correct formula

| v’ answer in months

R 67 805,20 - R20 000 = R 47 805,20 v

P x|1 - (1.+ i) I

B 1
| 2300,98/1- 1+13’5
47805,2 1200
,20= 13,5
1200

0,766...=(1,01125)™
| 1og; 41125 0,766...=—n

| n=23,80
[ . 12 months’ earlier

: Nz X Q)
OR/OF i/ v OR/OF
3 5 12x2
A=100000 1+—— _
0( 1200) ‘; n=24
=R130 799,12 :
13,5 V** v’ substitution into
2300,98 (1 + 1200) -1 both correct
F= formulae
13,5
1200
~R62993,92 \/ / answer
Balance outstanding = A — F =130 799,12 — 62 993,92
= R67 805,20 v answer

v’ substitution into
correct formula

B~

v’ answer in months (7) |

Copyright reserved/Kopiereg voorbehou
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NSC/NSS — Marking Guidelines/Nasienrighyme
OR/OF v W OR/OF
/ b

13,5
1200

@W&

\/ 100000 =

2 300,98[1 —[ + 13,5

) |
120000 1+ ——
13,5
IZOV

2 300,98 1—[3393) \/
300 |

120

i)

84 709,38 =

v
b

v n=24

¥v'=100 000

v substitution into
correct P formula
v substitution into
correct A formula

v’ simplification

0,135
12
SR - 2w oy’
0,4142=1- 22} g o inderts) or i
800 <A
[@ ~0,5858 A
800
~1=10g, 4554 0,5858
(55
n = 47,80 months after starting payments
. 12 months earlier \/ v answer in months(7)
CJA w\lm\ N=21% o 27T
[14]

L\ CAn~y G‘P'\"\C/V\ !

A= 20000 (14 °‘§"> V/W*f'
—R2q aig, 'z W

ated Picanonds =
Boloncy = RIOE 140, 48

i DEPARTMENTOF |
] ) BA
S EDUCATION Sic

'ATE BAG X895, PRE}”OR!A 0001 i

i
j !
[ 12-1- 0

{
! APPROVED MARKING GUIDELINE ,
H PUBLIC EXAMINATION ]

log 1uo, uE |7

N2 <f monhe =
’2300)0\3
= n Y vondny

;i L«,D - 6F = 123 vordns ouley \/

!

Copyright reserved/Kopiereg voorbehou
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QUESTION/VRAAG 8
811 d

a[?,x—sz] v3

. v—-10x

—3 10x ool 2
8.12 g(x)=£—3\/-x_7 | (,ﬂ F - @KP M%a'\\")’

xz\/ 7 ) in 15T aoesd Rrachon 7
g(x)=23c‘2 —x3 \/ N T V2 V=x?
e~

M- Expae
| e .
_ T 3 v — =3 43

g/(x)=—4x"2 —3* \/ 4x 3

82 | f(x)=x"—4x* +2x+3
f(x)=3x"-8x+2
m=f'(2)=302) -8(2)+2
m=-2 1/ ‘/m=—2
y=f(2)=2) -4(2)* +2(2)+3
y=—1 \/ . Jy:—l
(+i=2(-2) P clept s AN W
-);h;___.;?_x_-l-?a_ ‘\/ M W \-Q %‘MP \'j v answer

(4)

(3)

83.1| f(x)=—-6x

f’(x):limf(x+h)—f(x) .
h—=0 h W\Q T
J 2 2 \/
d’\' : =lim— 6(x £ h) +6x v'substitution
‘\Du ¥ b{ Gl h—0 h @fpu\nglw\ 7
/) * —lim —6x* —12xh—6h* +6x° \/ v f(x+h)=—6x—12xh -6k

N | B0

=lim

h 8 st P
: Conhom
~12xh—6k> %‘W\Q\N%\ v simplification
) I\l- 1 h—0 b }
,&D“S i h(-12x~6k) C.&
7 h

=lim
h—>0

v'common factor

= lim (~12x - 6k)

ans
_ 1o« \/ v answer
e . M ©

/ e )

J| erodaSe WG Tachon”

1 |-~ DEPARTMENT OF BASIC
3 i = EDUCATION
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f(x)=—6x° 4
f(x+h)=—-6x* —12xh —6k”

fx+h)— f(x) = —6x" ~12xh ~ 6k +6x* = —12xh —6h" |
| v'simplification

OR/OF

v f(x+h)=—6x*-12xh— 6K
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QUESTION/VRAAG9
9.1 1<x<— \// U(/L&-Pl lL%‘:«% v’ ¥ answer
A<l (2)
v e
> (1;0) and (E;O] Accept ot in V=1 v x=2
2 (o —Crels 2
: (2)
9.3 5-’_1 x> e s‘,\\.
" 9 Z - /= | | vmethod
0 Sk 5 mohnod 4 (=
..\H-'} 7
4 ;
ans
Concave up for x > 7 / g v answer
: a0 { -/ @)
9.4 -9<k<-8 /\/ v VAL BV ~G|a.\d_<3 v v answer
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QUESTION/VRAAG 10
| R L Afs.
10.1 —6t+18=0 TN j"v S YN TV =0
18=6t ., Juio gt
Vg« £)=0
3=t N L > v value of ¢
s'(3)=-3(3)2 +18(3) =27 NS v answer
(3)
10.2 ~3t2+18t=0 if PG FAL WA
~3t(t-6)=0 \/é;’/bb 8 Shed b do v factors
t=0 ort=6 .~ V‘ het CA At v values
1% QSR .
7| s(@)=al’ +bt’ e
| s7(¢y =3ar* +2bt
3¢a=-3 and 2b 18 / 72\
a——l bﬁf\\ '\% v'a and b
s(t)— ~1 +9¢° <.~¢> b= ©
5(6) = —(6)° +9(6Y v substitution
s(6)=108 v g v answer
! (3)
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A andiT)= Gk | o [FZ) b worapl ot
) =) N (3) 3
. 4 v (4+2+5+3)or14
1.2 P(at least two subjects) = 4+2:;)5+3 = %\7576 = 0,35 (in numerator) of
P \Y"'ﬂ \ v" 40 in denominator
\\¢ v/ \// (2)
' 22 16
113 P(M)x P(T 216 _Ulom Pla)rpPm |22, 16
40 40 50 (,'L 40 40
Q- \/H
50
7 7
P(Mand T)=-—"=0,175 v
40 40
P(M)x P(T) # P(M and T)
Events M and T are not independent v answer
(4)
19]
QUESTION/VRAAG 12
e ie -
12.1 26x10x26x10=67600 +/ v'for correct letters
- T T | v ioi
Py \/ CLL%\AS » .vj;":'i for correct digits o8
12.2 18x9x19%x5=15390 _ Cvillvleg that its multiplication
I8 o 1§ S = 15390 —LL-"—[_ v 19
e oy m— y / 9
W el a.o {53 |7 )
12.3 24x9%25x5=27 000 | vV24x9x25x%5
2 27 000—15390)(100:75,44% \/ NS I / answer
A \> 15390 2)
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